Asset Management
What is In it for us?
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Asset Value Is Rising

There are over $233 Trillion worth of assets in use today across the world.

Production  §5.8 Trillion in the utilities industry alone
Equipment

Transportation Qver $4 Trillion
Assets

Linear Over $10 Trillion
Assets

IT Hardware $52 Billion in the Fortune 500 alone, HW only
and Software

Facilities $162 Trillion = 70% of total value

Your Name, position, company — “Talk Title”
Adopted from IBM AM




Estimates of Asset Value In Iran

Bradiicticn $500+ Billions (oil and gas, mining,

Equipment manufacturing, utilities, ...)
Transportation o
Assets $30-$60 Billions
Linear .
Assets $80-$150 Billions

IT Hardware $1+ Billions
and Software

Facilities $2000 Billions

Your Name, position, company — “Talk Title”




Types of Maintenance Programs
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Cost of maintenance versus maintenance
‘%‘ practices employed, as summarized by an Electric Power
Research Institute (EPRI) study.
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OEE=AxPxQ
| Rate and Overall Equipment Effectiveness [OEE). A = availability %
P = production rate % of maximum
From: Ron Moore, “Making Common Sense, Common Practice” Q = quality rate %

A, P and Q increase as R increases
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Return on Investment
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Fixed operating costs:
(People, fixed assets, overheads)

— 0% Plant Utilization 100%




Return on Investment

Profit=75%ofSales — = = = = = = = = = = =

Profit=25%ofSales = = = = = = = = = = = =
Breakeven = — = = = = = = = = = = = = = —

95%

Operating Costs

85%

0% Plant Utilization 100%




Return on Investment
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Operating Costs

0% Plant Utilization 100%




Return on Investment

Break even

Operating Costs

ASES 0% Plant Utilization 100%




Return on Investment

Profit=175%o0ofSaleS = = = = = = = = = = = =

Break even

95%

Operating Costs

65%

ASES 0% Plant Utilization 100%




Return on Investment

Profit=175%o0ofSaleS = = = = = = = = = = = =

Break even

95%

Operating Costs

65%

ASES 0% Plant Utilization 100%




Asset Management Pyramid of Excellence
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Prioritizing Your Activities

= Opportunity map

For each activity

determine:

g Value to your
enterprise
(determine what it
buys you)

= Probability of

success (often

related to ease of

implementation)
Plot on a gnd of
Value vs. Probability
Do the high value,
high probability
items first and work
your way across the
grid towards the “low
!/ low” activities

= Then plan action in

Strategy

HR.
Tactics

Planning

Benefit

Degree of Difficulty

Adopted from IBM AM

. Measures
[: LT:

. Empowerment

Materials



Any Questions?

Thank You
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